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This paper has Pour sections, Section-A General Knowledge of Madhya Pradesh:
(Q.No.01 to 25), Section-B General Hindi: (Q.No. 26 to 50), Section-C Gcncral Arithmctics :
(Q.No. 51 to 60) and Section-D Computer Knowlcdgc: (Q.No. 61 to 100).

This question booklet contains 100 questions numbered from 1 to 100 and each question carry
1mark. All questions are compulsory. There is no negative marking.

Tally the number of pages alongwith no. of questions printed on cover page of the booklet.
Also check that question booklet contains the questions of all relevant subjects/topics, as required
and stated above and no repetition or omission of questions is evi-dent.

If any discrepancy is found in the Question booklet the same can be replaced with another
correct question booklet within first 15 minutes.

Before answering the questions please read carefully the instructions printed on the back cover
page of the question booklet and strictly follow them. Indicate your answers by blacking
bubbles carefully only on the O.M.R. Answer Sheet provided,

6. Use of any type of calculator, mobile phone or any other electronic equipment and log table
etc. is strictly prohibited'.
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Section- A
General Knowledge of

Madhya Pradesh (Q.No. 01 to 25)

~ - at
lf~~"Cnl :aIQI.•.lI ~

('Sf. ~. 01 ~ 25)

1. Where is Tepa sammelan organized? 1. ~ ~titM4' ~ 3'tl4lPifi ~ ~ ?

2. In which of the following national 2. ~.(~) 'qCR·~~~.qt?
parks george castle is situated?

(A) ~
.
(A) Kanha

(B) Bandhavgarh
(B) ~

(C)
.

(C) Sanjay ~

(D) Madhav (D) mUCf

(A) Datiya

(B) Ujjain

(C) Bhopal

(D) Betul

3. Makhan La! Chaturvedi is known by
which of the following nicknames?

(A) Kathin Kavya KaPret

(B) Indian. Shakespeare

(C) An Indian soul

(D) Modem Chankya

l 4. From area point of view, the biggest
district of Madhya. Pradesh. is ..

(A) Bhopal

(B) Chhindwara

(C) Mandsaur

(D) Jabalpur

(A) ~

(B) ~

(C) ~

(D) ~

3.' q I'tSI4M IM '€4tl~ tit ~ 3q:t Iq ~ '\'ifr.n'

~~?
(A) ~~tnTmr
(B) ~ :llcmRlll(

(C) ~~~

(D) ~ '€41Ulq:q

4. - ~. rJiT· ~.~ ~~ ~ (fiT ~

~~t-
(A) ~

(B) ffi&qlgl

(C) qG~ih
(D) \itq~$
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5. Which of the following cities is 5. '~.~'.~~~.~~~-
known as 'city of lime'?

(A) qogHI
(A) Mandla

Katni
(B) cnrn

(B)

(C) Damoh (C) ~

(D) Singrauli (D) ffltluM)

6. Which of the following does not
merge in chambal river?

(A) Kalisindh

(B) Shipra

(C) Parbati

(D) Tapti

6. f.n:;r -ij.~Chi4tft .";Rft ~ -ij ~ fqffffl

~?
(A) ChIMIfflu

(B) W>rr
(C) ~

(D) 0'l1lT

7. Which of the following is known as 7.'~~ii"~ ~'·Ch~ffl(11 ~-
'land of white lions'?

(A) Guna

(B) Katni

(C) Rewa

(D) Shahdol

(A) '!fIT

(B) cnrn

(C) ftcn

8. As per the census 2011, the district 8. 2011 ~ :::rt4t10141if;~, 'tj't(f >iW"
of Madhya Pradesh having lowest 'ChT O<{"1(1q:::rt4ti~ I ·crrRT ~ ~ - . l,population is -

(A) 3qn:~1 Ii.
(A) Umaria •...
(B) Sheopur (B) ~

(C) Dindori (C) .fmft

(D) Harda (D) ~
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9. Vallabh Bhawan in M.P. is- 9. 'q'.~. -ij~ 'llCRl-

(A) Governor's residence (A) {I'i4q I~ f.tom1

(B) Chief Minister's residence (B) Y){94 4il f.tom1

(C) Vidhan sabha building (C) ~'ql 'llCR

(D) Secretariat building (D) f\ ~ 611M'Q 'llCR

10. Dr. Babasaheb Ambedkar National 10. if. ~1~lf\l~~ 31~g€h{ ~ f\l"II~€h
Institute of Social Science is situated 'fcQn;r ~ ~ @.«r l ?
at -

(A) Mhow

(B) Nagda

(C) Dhar

(D) Patan

(A) ~

(B) ~

(C) un

(D) ~

12. Which of the following state does not
borders Madhya Pradesh?

(A) Rajasthan

(B) Chhatisgarh

(C) Maharashtra

(D) Bihar

12. f.p;r-ij~~~tiITlftm~~
~~~l?
(A) ~~

(B) 0ff)f\'.1~

(C) "I6HII1

(D) ~

13ILIPI -5- Set-A



13. At present, the total number of 13. qdlOl Ft .q lf~ >mr .q~ .~'lWf % -
divisions in Madhya Pradesh is -

(A) 8
(A) 8

(B) 9(B) 9

(C) 10 (C) 10

(D) 11 (D) 11

14. Which of the following districts is a 14. f.:n:;t' .q ~ ~ m ~ ~ ~m-q -ij
port of sagar division?

3ffilT ~ ?
(A) Raisen (A) {ItH~'"

(B) Narsinghpur (B) ;Hffi~9}
(C) Teekamgarh (C) ilCfiIOl.I~

(D) Vidisha (D) f61~!111

15. Total Number of Rajya Sabha seats. 15. lf~~-q~~~·~~% -
from Madhya Pradesh is -

(A) 10
(A) 10

(B) 11
(B) 11

(C) 12 (C) 12
f.~ • j \

(D) 13 (D) 13

16. Samir dad is related to - 16. ~WG'~~~~~-

(A) Cricket (A) Rh~G

(B) Hockey (B) ~

(C) Wrestling (C) .~

(D) Table Tennis (D) ~~

13ILIPI -6- Set- A
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I
.m;ur~. 9)«4iI{CfiT~~ ~.qt ?I 17. Tarun Bhaduri Award is related to 17.

! which of the following fields? (A) q SfCf)Ifh1l
I (A) Journalism

.Cf)~f!1I (B)

1
(B) Poetry

~(C) Sports (C)
I (D) . .

(D) Theatre ~

1 18. Who has been awarded Kalidas 18. 'ri 2011 ~ ~ Cf)IHlGltt ~ ~,
'i

Samman for year 2011 ? ~~?
(A) Satish Gujral (A) ~ !!'W(IH
(B) Manjit Bawa (B) ~~
(C) Anupam Kher (C) ~~
(D) Sonal Mansingh (D) ~ qt..,ffi{{

19. Rani Avanti Bai's tomb is situated 19. u;ft' 3fCMft GtTt 'efIT mnfU ~ t ?
m-

(A) lWJ't
(A) Mandu

! (B) Mandla
(B) qogM'1

i "'.
1

(C) Dhar (C) un

(D) Khargone (D) "<swR..,
I
f
I 20. State Bird of Madhya Pradesh is - 20. lf~ ~ qrr ~ 'qaft t -
I (A) Asian Paradise flycatcher (A) ,\U\1\irI

I (Dudhraj)
(B) "<sH4hI (B) Lesser florican (Kharmor)

I
(C) Great Indian bustard (Son (C) ~~f441

Chiriya)
oftHeh8

(D) Indian roller (Nilkantha) (D)

21. Fair of Kanha Baba is held at - 21. cnr.m ~ CfIT~ ~ 'M'liffi t -
(A) Bhojpur (A) ~
(B) Sodalpur (B) "{{jgH$
(C) Chitrakoot (C) ~*~G
(D) Ratangarh (D) (f!..,41<$



situated?
(A) "*~H9}

(B) flcrr

22. In which district Tansen's Tomb is 22. d14:H4(f)'f i'IChiiHl ~ m1l t ?

(A) Jabalpur

(B) Rewa

(C) Gwalior

(D) Panna

(C) JCUWI!4(

(D) 'q"lID

23. Who constructed chanderi fort? 23. ~~~(f)'f f.htiol ~ c:Mecl!41 ?
(A) Kirtipal (A) chlfdqlM

(B) Aasa Ahir (B) 3lTm 3nft<
(C) Suraj Sen (C) ~~

(D) Yashovarman . (D) :q~nectf4

25. In which district of Madhya Pradesh 25. '(Sl(1\\i11 ~ -qar ~ ~ ~ ~ -ij
is Kharbuja Mahal located? mrnt?
(A) Guna (A) ~

(B) Shivpuri (B) ~lec9Jl
(C) Dhar (C) ~

(D) Gwalior (D) ~ecIWl!4(

13ILIPI -8- Set·A
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~-Gf

'l"flql9'4 ~ (~. $f;. 26 ~ 50)

28. '~' ~ -ij cnT.f - ~ 'rifu t - 32. ~~~.a; ~RsiH ~-ij-Q~~

(A) ~~ ~:

(B) ~~ (A) {T.:(filHI

(C) ~~ (B) d~itril

(D) ~~ (C) {T.:(4\HI

(D) {i.f1it HI
29. ' 3iCH"HClI i{)' - 3t~ ft6'{{ menTftn ~

~C6&1HI t-
~ctf{;jRsiH ~.a; ~ ~ f{;jRsiH ~(A) 'tsW{~ q:;) ~'lSIC6{'lSI{'{,ill itT cst(%&1HI

33.
-ij ~ ClJ;f\41~ ~ ~ ~ -t

(B) Tim ~ .
~~~

(A) >rmfTJ11f(%H:r,

\lIY;4IGI~ (B) Y;~RcstH

(C) &rUT "ffuR mur ~ (C) 1FfCn

(D) 3fRsr Cf)T3P.n, lllo Cf)T"iU (D) ~

26. ~ct~Rsid~C6~41-ij ~ cir.:r - m ~
'~' em Q4h04ctl;:;f\ ~ t -
(A) ~~

(B) R4C6{

(C) ~

(D) RClIC6{

27. ~ ~.~ ~&i{A4'j -ij ~ '3fC6~' ~
cnT 'ffCrifucn ~m ftn;rTl:( ~
~-
(A) 'Q(;.f

(B) ~6Ch~

(C) ~

(D) ~

I
I
t
j,
~
j

30. ~ct~RsiH ~C6~41 -ij ~ ~ - m~
'~' ~ ctiT ~lctctlT.:(C6 ~ t -
(A) ~IQI

(B) ~

(C) ~

(D) ~

31. ~~~.a; f{;jf(§H ~-ij~~~

cstril$l{ -

(A) 3iICfiM&i

(B) 3i &iIHl:i&i

(C) 3i1C6~~C6

CD) 3iICfi~&i

13ILIPI -13- Set-A



34. Plctf{;jf&d ~ .q ~-m ~ ~. 38. PlctfMf&d PctCh(r41 .q ~ ~ - m~
~t"1 '~' ~cfil \iIClClI~Ch ~t" -

(A) q ••ih~I(" (A) \ifHlfi

(B) ~ (B) ~

~oICld1
(C) \ifH 1;CI(C) (D) \ifH€U;C1

(D) ~

39. " d " -~~~ Chi Ch( slH;C1

35. PIct f{;j furd PctCh(r41 .q ~ '\if H IfI "4' ~ enr&~ t" -
enr~ - Pct~0G qdl$l{- (A) ~'tR~\ifHI;C1

(A) '\iI'm + lllT (B) ~ ~ Gfffi 'Cf)Bf

(B) '\iI'm + 3tlT'tf
(C) ~ - qldl(1 $~ filHI;C1

(D) ~ $ oft ~ (WlRf
(C) ~ + 3tlT'tf

(D) ~ + 3flTIlf 40. . ~(1«IGlfi cfil "(T.RT ~ - ~ ~ t" -
(A) ~ (I"4I~OI

36. Plctf{;jfurd ~i('&iRhd ~$~ (B) m~
~ 3q~'d'i~' ~ : (C) (1"4(1(11~

mp'~~~~- (D) ~qQChI

(A) lfR
41. f.IqR1fur d PctCh(r41 .q ~ qft-;r -m ~

(B) 0tT '~'~enr&~~~-
(C)w (A) ~

(D) ~ (B) lffifi
(C) ~ !

'~' ~enr (~Rldl~ t" -
(D) :msl

37.

(A) lm~W 42. ~~~ PeiCh~ i~ '~' ~
(B) ~ enr~ - Pct'60& ~ -

(C) mo~ (A) ~+~

(D) (eft ..,,;C'?f!rm (B) ~+~

(C) 'qq+~

(D) ~+~

13ILIPI -14- Set-A
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43. '~14C!($ltti( ~ 'ij~' - 3t~ ~ 47. f.h4R-1~o Pci€h(""QI'ij ~ ~-m ~
~COT~ '3~' ~COT 3t~';rtf~-

(A) 3il:WMl 'ij fm ~ (A) ~

(B) 311'(41'114~ ~ ~ 'ij ~ (B) crer
3tmft;r 'ij ~ qlH41 (C) $I4'l~4(C)

(D) 31mlOll4 ¥~ (D) cnqm

~~~€w:wi!il~~~~~
R¥4rn~a f4CfwQl 'ij ~ ~ - m ~ 48.44.

-q~~3q~~~1'3fiT;r' COT ~ 'CffCft ~ -

'3qCfiI( ~ ~ -qmr Tf'rT 3QCfil(
,

(A) sa 1!i14
Q(lQCfiI((A)

(B) 3lf.wT
Q(ffiaCfiI<l(B)(C) l'fTR
34€hI(lQ€h1((C)

(D) m:nT
(D) $IfgQCfiI(

~~~~ WiUsAa ~-q~~~
'~>rmf~' - 3t~~~

45.
49.~-

COT~-
(A) $IG~i;f\ (A) ~~\ifRT
(B) $IG~iR (B) ~ GfT1T - GfT1Tm '3o.IT

(C) $IG:(Iff;f\ (C) ~ cift~ ~ '3o.IT

(D) $IG:(Iiof\ G(CjI~ 'tRm~~(D)

R¥4rnUsAa ~ -q '{:wifiba ~ ~ ~~~.CjICFQi:;I~~~~~( 46. 50.
~~:aoaalOl~~: -q ~ ~ 3q~if)~· ~-

1l1ff~~~m=rm ~ I ~~-q~~ ~mcift $-e01-

(A) ~ (A) ~

(B) ~ (B) WuT
(C) 1TH' (C) ~uT
(D) ~ (D) :mrUtfi
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Section - C ~ -en
General Arithmetics IfIIQIOO<43ten4liUld
(Q.No. 51 to 60) (sr. ~. 51 ~ 60)

(343r (343 r51. The value of 1331 ' is : 51. 1331 tfillIT-f t :

5 5(A)
11 (A)

11

7 7
(B) - (B) -

5 5
"

7 7(C)
11 (C)

11

7 7(D) (D) -10 10

52. If the radius of a sphere is doubled, 52. ~ ~ ~ cfil ~ GTwft ~ ~ ~
then it's volume increases by - nT ~ 3m:n:R ~ \if1:Q.U :

(A) 2 times

(B) 3 times

(C) 10 times

(D) 8 times

(A) 2~

(B) 3~

(C) 10~

(D) 8~

53. The area of a circle having 53. ~ ~ tfil qfhHq 132~. '#T. t, nT ~
circumference of 132 em, is : Ftfil~t:

(A) 693 em' (A) 693~2

(B) 116 em' (B) 116~2

(C) 5227 ern? (C) 5227~2

(D) 1386 em' (D) 1386~2

13ILIPI -20- Set-A



1 1 1 1 1 1 1 1
54. If -:-=-:-, then the value of 54. ~ -:-=-:--, oT xcnT1lR~:

5 x x 1.25 5 x x 1.25

x, is: (A) 1.25
(A) 1.25

(B) 1.5
. (B) 1.5

(C) 2.5
(C) 2.5

(D) 2.25 (D) 2.25.

55. The time in which Rs. 1,000 amounts ~ ~ ~ 1000~. 10% cuRfC655.
to Rs. 1,331 at a compound interest iH6f!fO};:~tIIT~-« 1331~.m~,
at 10% per annum, is : ~:
(A) 2 yrs. (A) 2cN
(B) 3 yrs. (B) 3ri
(C) 4 yrs. (C) 4ri
(D) 5 yrs. (D) 5ri

56. The simple interest on Rs. 68,000/- at 56. 68,000/-m cnT6% tUfE{Cfi~ ~
6% per annum for 4 years, is ~~ 4 riCfITmtmUT~m:
(A) Rs. 16,120 (A) Rs.16,120
(B) Rs.16,320 (B) Rs. 16,320
(C) Rs.16,420 (C) Rs. 16,420
(D) Rs.16,520 (D) Rs. 16,520

57. Cost price of at?-article is Rs.320 and
it is sold for Rs. 400, profit percent,
IS :

57. ~~'CfiT~~ 320~. t,"tn~
400~ . .q~~, m~ SI~~I" t:

(A) 25%

(B) 26%·

(C) _27%

(D) 24%

(A) 25%

(B) 26%

(C) 27%

(D) 24%
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58. The cost price of an article is Rs. 7,840. 58. ~~enT~~ 7840~.,~~.
If it is sold at a profit of 7% then the 7% ~m:~\iffifT~m~enT~
selling price of the article, is : ~Wrr:

(A) Rs. 8,388.80 (A) 8,388.80 ~.

(B) Rs.8,000 (B) 8,000~.

(C) Rs. 8,383.80 (C) 8,383.80 ~.

(D) Rs. 8,833.80 (D) 8,833.80 ~.

5~> The sum of 53+ 63+ 73+ 83+ 93+ 103, 59. 53+ 63+ 73+ 83 + 93 + 103enTlrr.f ~ :
IS :

(A) 2295·
(A) 2295

(B) 2425
(B) 2425

(C) 2495 (C) 2495

CD) 2925 (D) 2925

The square root of, (272)2 -(128)2, 60. (272)2 -(128)2 enTqTf~~:

15 :

(A) 256
(A) 256

(B) 200
(B) 200

(C) 240
(C) 240

(D) 144
(D) 144

131L1pI -22 - Set-A

•• • •• II



-€Z-IdIrv£T

I
Ij

rt
.I

I

r



.,•••

~t~-Idlrv£I



-sr-Idlru£T

I

f

IJ,
I

I



•
•.9Z..IdIrv£l



13ILIPI ..27 .. Set-A

Section ~D
Computer Knowledge

(Q.No. 61 to 100)

.1'1· lSfUS - '$

Cfii=U{\e( ~ (~. 16. 61 ~ 100)

61. 'CLEAN' is a function in 61. MS - Excel -q 'CLEAN' ~
MS-Excel cflCf!1Ht I

(A) Text (A) ~

(B) Logical (B) (1Tra, etl (1
(C) Financial (C) Cf)1$~~lif(1

(D) Lookup (D) ~3fq

62. In MS-Excel, 'ACCRINT' isa 62. MS-Excel -q ACCRINT ~. . function. cflCfO?I"1~ I

(A) Financial (A) Pcttflif

(B) Logical (B) (1~(6(1

, (C) Text (C) ~I

J

(D) Mathematical (D) 41fUidlif

63. 'Pie' option is available in 63. MS -Excel~ ~-q~(Pie)
menu of MS-Excel. ~::sq(1eU~~
(A) Data (A) ~

(B) Format (B) ~

(C) View (C) "&{

r (D) Insert (D) ~

64. In MS-Power Point, Two content 64. MS - 'Q'l'CR U!41$o:G~ fcfrn' ~ -q two
option is available in menu. content ~ ::sq~eU ~ t -
(A) New slide (A) ~~I$~
(B) Animation (B) l{f.\ilO?I"1

(C) View (C) "&{
(D) Data (D) ~

-.,-~,..",~-



65. 'Thesaurus' option is available in 65. MS - word ~ ftt;~ 3tTt~ 'if
menu of MS-word. 'Thesaurus' ~itoTt-

(A) View (A) fut
(B) Review (B) ~
(C) Data (C) -rn
(D) Home (D) ~

66. Rotational delay time is also known 66. <WtlotH~~~ \-iT ~~
as -

(A) -m.~
(A) Seek time

(B) Shift time (B) ~~ ,
(C) Latency (C) Ma4
(D) Access time (D) I{CRl:a ~

67. Query languages comes under - 67. ~ ;h6l~~_ ~"1"{:;lot-ij 3mft t -
(A) Second generation (A) itfTtr
(B) Fourth generation (B) ~?f
(C) Fifth generation (C) ~
(D) None of these (D) cntt~

68. The core language for A.I. is 68. A.I. ~ CIiR 'qTf;11 t -
(A) LISP (A) 1m:q
(B) Java (B) 'ffiCff
(C) V.B. (e) eft. Gfi.
(D) VC++ (D) VC++ ,

69. Multithread concept in a programming 69. >rT1Jrfim 'ifTl.1'Fm lllWiT~s cn~'tG
language was developed in ~~s.m?IT I

(A) 5GL -:
(A) 5GL

(B) 3GL (B) 3GL
" ..

(C) 1 GL (C) 1 GL

(D) 4GL (D) 4GL
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71. Choose the odd one out in relational 71. rh=t~lot~ I{~~il $~ .qm cit
algebra context csH'1I$~

(A) Selection (A) ftMCf~lot

(B) Join (B) ~

(C) Reflection (C) RCfiMq:~1ot

(D) Projection (D) Sf'~Cf:tI"

J
72. Father and Son share type of 72. fitmam~ ftM~I ••fllQ ~t·

Relationship (A) 1:1(A) 1:1
(B) 1:M

(B) 1:M
(C) M:M

(C) M:M
(D) None of above

(D) enll'otll

r 73. DNSis 73. DNS~I
(A) Distributed hierarchial naming (A) ~i9.ts &1<4 1(l(f4;q ("'I ~~

system
qflCfi~ ~ R4~qI (B)(B) The vertical naming system

(C) The horizontal naming system (C) &IRGllo:GH ~ ~4:'G&j

(D) The client server system (D) Ck"tl$e lfCR ~~q

70. In a relationship, represents

max. number of records in one entity

that are linked to single row in another

entity

(A) Degree

(B) Link

(C) Cardinality

(D) Domain

70. ftndf RM~lotillq .q, fifr(:ft ~ m$
~ RCfiliift ~ ~ u efiJ ~
l{R:ll~ $am~/~

m~t
(A) ~

(B) ~

(C) Cfilfi~l{~il

(D) ~
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75. is not an scripting language 75. 'rien ~rceJI.~~t-
(A) HTML (A) ~'it~~
(B) XML (B) ~~~

(C) Postscript (C) Ql'l"Gf?~CG
"(D) Javascript (D) \fll cHf?Sb CG

,'.74. ,.~ ~ a; '&RT~. ---:~ ~ t ':'"
(A) ~'tR TV

(B) ft:l:iTG>rTI:m:r
(C;) ~TV~

(D) ~~

74. Telnet is a service that runs

(A) TVonnet

(B) Remote Program

(C) Cable TV NIW

(D) TeleText

76. IP address is currently

(A) 4 bytes long

(B) 16 bytes long

(C) Unlimited

(D) Not assigned

77. Internet uses switching

(A) Packet

(B) Circuit

(C) Telephone

(D) Telex

76. Cjthll'1.q IP$' mm t
(A) 4~-em,

(B) 16~cnT

(C) ~IDtrr~

(D) ~ ~ ~ '\fl'ffiTt

(A) ~ ;H

(B) ~

(C) l~nlbl4i

(D) lHCtflIJ:
;:;1 "

78. The tag used in HTML to link it with
another URL' s is

78. HTML .q#l~q;)'~ URLa; m~
~~ m~.q&mt-

(A) <A>

(B) <H>

(C) < U>

(D) <L>

(B) <H>

(C) <U>

(D) <L>

"
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79. Which of the following is a private 79. ~ SlI$aa IP$t-
IP address?

(A) 12.0.0.1
(A) 12.0.0.1

168. 172. 19.39(B)
(B) 168.172.19.39
(C) 172.15.14.36 (C) 172. 15. 14.36

(D) 192.168.24.43 (D) 192.168.24.43

80. Which of the following is not a type 80. ~ ~ ~ cnT'Slam~ t
of tab stop?

(A) -am
(A) Bar

gRHWI(B) Decimal (B)

(C) Point (C) ~

(D) Left (D) ~,

81. The view of total database content is 81. ~ slali~ ~ cnT~
view. ~t-(A) Conceptual (A) Cfi4\"1~

(B) Internal (B) $d"M(C) External (C) t{iR'1i ••M
(D) Physical (D) RfNf} CfiM

82. In the relational modes, cardinality is 82. AA~ lfTglf 1l, ~~~ ~rMtt~T
termed as- cnm~t -
(A) Number of tuples (A) Ci["M~~~
(B) Number of attributes (B) ~~'*lGtI tfIT ~

j (C) Number of tables (C) ~~~r (D) Number of constraints (D) '> ~ ~.qw+,:;:a~ ~

83. A relational database developer 83. fh~~lo1Mslalitl gC4MQ(~ ~ CIIT
refers to a record as ~-
(A) a criteria (A) ~ S61$ilft!u
(B) a .relation (B) ~~o{
(C) a tuple (C) ~~
(D) an attribute (D) ~~~~G
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84. SET concept is used in
(A) Network model
(B) Relational model
(C) Hierarchial model
(D) None of these

85. Which is the properties of entities ?

(A) Groups
(B) Table
(C) Attribute

(D) Switchboard

86. The translator which performs macro
expansion is called a
(A) Macro Processor
(B) Macro - Pre - Processor

(C) Micro Processor

(D) Assembler

87. The translator for low level
programming language were termed
as -
(A) Assembler
(B) Compiler
(C) Linker

(D) Loader

88. Symbolic names can be associated
with

(A) Information

(B) Data or Instruction

(C) Operand
(D) Mnemonic operation

84. SET &);:RCG lITm.q~.qamrr
~ t:
(A) ~lqeb

(B) ~H~I::tM

(C) tWHHfc6'G1M

(D) ~~

85. f.tq -ij ~ l{Ri\ ~~ Ch=;::tff'l t
(A) ~

(B) ~

(C) lt~&ilG

(D) ~:q~;h!

86. -q~T ltCFtI(h~ perf0r.m 'CFi~ ~

ll41Ae{ ~ -
"
(A) ~'51')I~,tI{

(B) ~,m 511f\tI{

(C) ¥41$§hj sih4(1{
(D) ~ktM<'

;,:;

(B) f.hi4I~M~

(C) ~"€f:j(

(D) ~
J '.

88. Hlktl~f.h~cn1_~$~.

\ifmt~·

(A) ~w.
J._ ,_

(B) srer en f.m1T
(C) ~'C

(D) f.hi)r:qf.h3ilq)~I::t
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~;!89;.-Whichof the following is not a
fundamental process state?

(A) Ready

(B) Terminated

(C) Running

(D) Queue

89. '%'~mm=rm~~-
(A) "ttt

(B) lrn4=a~
(C) ~

(D) Cfll

90. Poor response time is usually caused 90. Poor ):W 141G'll't Cfil ~ CfiR1lT %
by mm=r~(A)
(A) Process busy .

(B) High I/O rates (B) ~I/OW
•

(C) High Paging Rates (C) ~~W

(D) Any of the above (D) 340m it ~ enli ~
!
I

I 91. Which of the following loader is 91. \if«f '%'~tl"i en)~ m -m:m ~ ~
executed when a system is first turned 'ffi ~ ~Fcftt~Gmor%-
on or restarted?

1 '(A) Boot Loader (A) ~~

• (B) Cfli4lq~ ~ 1ll ~(B) Compile &.Go Loader

(C) Boot strap loader (C) ~$~
(D) Relating Loader " (D) f{AQ.I~

I

II .
92. The number of processes completed 92. ~ ~ ~ it ~ m- ~ 5i){h~ft

per unit of time is known as Cfl8&lIat -
(A) Output (A) ~13G9IG

(B) Throughput (B) ~., .
•

(C) Efficiency, (C) ~fq:)al~4l

(D) Capacity -. (D) ~q~tl
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93. In , data is transmitted in the
form of light pulse

(A) Twisted pair cable

(B) Optical fibre

(C) Radio waves

(D) None of above

93. -ij';mr ~ eit ~ ~ \iffiTf t
(A) afct~~ ~ ~

(B) 3tTfCeC!h(l'l ChI$iH

(C) ~~

(D) tnTt ~

94. RAM chip was Invented by 94. RAMftrtf 1tITI ~ TPit ?ft -

(A) Intel (A) ~

(B) Motorola (B)
.•. ~ .•.

¥!tlG,UMI ~

(C) mM (C) antift~
(D) Oracle (D)

.•.,
3fH<fiM

95. To access web, program is
essential

95. Web cnl ~CF~~ ~ Ttl" _
sihll q 3t IcHIt( <fi ~ t

(A) Browser

(B) Utility

(C) Boot

(D) Firewall

(A) 'I:;.NH

(B) qfafi;ti\

(C) ~

(D)
..•.

ChIt((qIM

96. Which format is best suited for 96. fClCF€H:i ~ best ~t -
pictures?

'•..
(A)

(A) .jpg
.Jpg

(B) .avi
(B) .avi

(C) .ppt (C) .ppt

(D) .doc (D) '.doc
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97. Einhexadecimal system is equivalent 97. %,~~r-i~ ~ if E ~
·to 'I"

~-
(A) 10 (A) 10
(B) 12 (B) 12
(C) 14 (C) 14
(D) 15 (D) 15

98. The __ key will launch the start 98. rETmr~~~~~-- "-button ijilil.1I -
n(A) ··Esc (A) Esc
(B) Shift (B) fu«fG

(C) Windows (C) ~os)iji~

(D) Shortcut (D) ~ITbtiG

•

I
I
J

99. When Internet data leaves your
campus, it normally goes to a(n) __
before .moving towards its
destination. .",;;.

(A) Internet Backbone

(B) Network Access Point

(C) Base Station

(D) Communichlion system

-~~ -\' 'j r '.

100. Amazon.com comes under the model

(A) B2B

(B) B2C

(C) C2C

(D) C2B

99. ~$G{4a ~ ~ campus ~
~ m ~ '(01I¥OCi;(Ofd: ~ lMf&f~?TR ~

~ ~ ~ - ~ 'ij1'TIfT~. -

(A) $;(!{~GaChq1"1

(B) ~({cm'(01~

(C) ~~

(D) Ch'1f.:iCh~I"1 ifl'R¥OC

~..., .::..
100. Amazon.com ."'•...•~ ttiT ~ Ci ~

(A) B2B

(B) B2C

(C) C2C

(D) C2B
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INSTRUCTIONS REGARDING 1\"' •••••••.••
OF ANSWERING QUESTIONS

(Please use Black ball-point Pen)

1. Method of Marking Answers:
To answer a question, please darken one
bubble out of the given four, in the OMR
Answer Sheet against that question.

2. Valuation Procedure :
There are four alternative answers to a
question, onIy one of them is correct. One
mark will be awarded for each correct
answer, if more than one bubble are
darkened for a question, it will be
presumed that the candidate does not know
the correct answer hence, no mark shall
be awarded.

3.' Cancellation or Change in Answer:
It will not be possible to change the marked
bubble with black ball-point pen; therefore,
correct answer should be carefully chosen
before marking it on OMR Answer Sheet.

4. Handing over of Answer Sheet to
Invigilator :

(i) Please ensure that all entries in the
answer sheet are filled up properly i.e.
Name, Roll No., Signatures,
Question Booklet No. etc.

(ii) CANDIDATES ARE PERMITTED TO
CARRY AWA Y THE QUESTION
BOOKLET WITH THEM AFTER THE
EXAMINATION.

5. Care in Handling the Answer Sheet:
While using answer sheet adequate care
should be taken not to tear or spoil due to
folds or wrinkles .

(~ Black ball-point

1. ~~cnroWf;r :

~ ~~m *.1:!;1l.3lR. ~ ~ffdCflI.q
~mf ~ ~~.q m~ Tffi1ITffi.q~·
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